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Pj+ k/LIff k|0ffnL -of]hgf_  

kf7\oqmdsf] ?k/]vf M—  ;+o'Qm / Plss[t k/LIff k|0ffnL (Integrated & Unified Examination 

System) sf] cfwf/df lgDgfg';f/sf] x'g]5 . 

efu – ! 

lnlvt k/LIff (Written Examination) M— k|yd r/0f     k"0ff{Í M— !)) 

        låtLo r/0f          k"0ff{Í M— @)) 

efu – @ 

clGtd r/0f (Final Examination) M— sDKo"6/  ;Lk k/LIf0f / cGtjf{tf{  k"0ff{Í M— %) 

lnlvt k/LIff of]hgf (Written Examination Scheme) 

!= lnlvt k/LIff M– k|yd r/0f (First Phase) 

tflnsf -!_ 

  kq                     ljifo k"0ff{Í ptL0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

k|yd 

;fdfGo 1fg / ;fdfGo 

Aff}l¢s k/LIf0f 

(General Knowledge  & 

General Mental Ability 

Test)) 

100 40 

j:t'ut (Objective): 

ax'j}slNks k|Zg 

(Multiple Choice 

Questions) 

%) k|Zg x @ cÍ $% ldg]6               

 

@= lnlvt k/LIff M– låtLo r/0f (Second Phase)   

tflnsf -@_ 

  kq                     ljifo k"0ff{Í ptL0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

låtLo 

;fdflhs–cfly{s cj:yf 

(Socio-economic 

Condition) 
100 40 

ljifout(Subjective): 

5f]6f] / nfdf] pQ/ 

(Short & Long 

Answers) 

!$ k|Zg x % cÍ 

# k|Zg x !) cÍ 

@ 306f 

#) ldg]6              

t[tLo 
P]lR5s ljifo*   

(Optional Paper) 
100 40 

j:t'ut (Objective): 

ax'j}slNks k|Zg 

(MCQs) 

%) k|Zg x @ cÍ ! 306f 

-g]kfn k//fi6« ;]jfsf] nflu dfq_  

tflnsf -#_ 

kq ÷ ljifo  k"0ff{Í ptL{0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

rt'y{ 

c+u|]hL efiff / 

s"6g}lts ljifo  

(English Language 

& Diplomacy) 

100 40 ljifout: 

(Subjective) 

;DalGwt 

kf7\oj:t'df lbOP 

cg';f/ 

@ 306f 

#) ldg]6           

 

clGtd r/0f  – sDKo"6/ ;Lk kl/If0f / cGtjf{tf{ (Computer Skill Test & Interview) 

tflnsf -$_ 

ljifo k"0ff{Í k/LIff k|0ffnL ;do 

sDKo"6/ ;Lk kl/If0f (Computer Skill Test) 10 k|of]ufTds (Practical) !% ldg]6 

JolQmut cGtjf{tf{ (Interview) 40 df}lvs (Oral)  

JolQmut cGtjf{tf{ (Interview) 
-g]kfn k//fi6« ;]jfsf] nflu_ 

50 df}lvs (Oral)  
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tflnsf -%_ 

* P]lR5s ljifox?sf] ;'rL (List of Optional Papers) 

S. 

No. 
ljifo (Subject) 

S. 

No. 
ljifo (Subject) 

01 cYf{zf:q (Economics) 04 /fhg}lts zf:q (Political Science) 

02 lzIff (Education) 05 hg;+Vof cWoog (Population Studies) 

03 
Joj:yfkg / n]vf  

(Management & Accountancy) 
06 lj1fg (Science) 

 

b|i6Jo M 

!= of] kf7\oqmd of]hgfnfO{ ;+o'Qm / PsLs[t k/LIff k|0ffnLsf] cfwf/df ck|fljlws tkm{ Gofo, k//fi6«, 

k|zf;g, n]vfk/LIf0f / ;+;b ;]jfsf ;a} ;d'xsf] nflu lnlvt k/LIff -k|yd r/0f / låtLo r/0f_ 

tyf clGtd r/0f -sDKo"6/ ;Lk k/LIf0f cGtjf{tf{_ u/L b'O{ efudf ljefhg ul/Psf] 5 .  

@= tflnsf -!_ / tflnsf -@_ df lbO{Psf] cg';f/sf] lnlvt k/LIff dfly plNnlvt ;a} ;]jfsf ;a} 

;d'xsf] nflu clgjfo{ x'g]5 . t/ g]kfn k//fi6« ;]jfsf] nflu tflnsf -#_ cg';f/sf] cltl/St 

rt'y{ kq c+u|]hL efiff / s"6g}lts ljifo yk ;dfj]z x'g]5 . 

#= dfly plNnlvt ;]jfsf ;a} ;d'xsf] nflu k|yd / låtLo kq÷ljifosf] ljifoj:t' Pp6} 

(Common) / clgjfo{ x'g]5 . t/ t[tLo kq P]lR5s ljifo tflnsf -%_ df lbOPsf ljifox? dWo] 

s'g} Ps ljifo dfq x'g]5 .  

$= t[tLo kq P]lR5s ljifo tflnsf -%_ df lbOPsf ljifox? dWo] h'g;'s} Ps ljifo 5gf}6 ug{ 

;lsg]5 . pDd]bjf/n] kmf/fd ebf{ kmf/fddf lglb{i6 ul/Psf] 7fpFx?df cfk"mn] k/LIff lbg] P]lR5s 

ljifo clgjfo{ ?kdf pNn]v ug'{ kg]{5 . 

%= g]kfn k//fi6« ;]jfsf] nflu b/vf:t lbg] xf] eg] ;f]sf] nflu rt'y{ kq c+u|]hL efiff / s"6g}lts 

ljifo pDd]bjf/n] kmf/fd ebf{ kmf/fddf lglb{i6 ul/Psf] 7fpFdf clgjfo{ ?kdf pNn]v ug'{ kg]{5 . 

^= lnlvt k/LIffsf] dfWod efiff g]kfnL jf c+u|]hL cyjf g]kfnL / c+u|]hL b'j} x'g]5 . t/ k//fi6« 

;]jfsf] rt'y{ kq c+u|]hL efiff / s"6g}lts ljifosf] k/LIffsf] dfWod efiff c+u|]hL dfq x'g]5 . 

*= j:t'ut ax'j}slNks (Multiple Choice) k|Zgx?sf] unt pQ/ lbPdf k|To]s unt pQ/ afkt @) 

k|ltzt cÍ s§f ul/g]5 . t/ pQ/ glbPdf To; afkt cÍ lbOg] 5}g / cÍ s§f klg ul/g] 5}g . 

(= ax'j}slNks k|Zgx? x'g] k/LIffdf s'g} k|sf/sf] SofNs'n]6/ (Calculator) k|of]u ug{ kfOg] 5}g . 

!)= ljifout k|Zgsf nflu tf]lsPsf !) cÍsf k|Zgx?sf] xsdf !) cÍsf]  Pp6f nfdf] k|Zg jf  

Pp6} k|Zgsf b'O{ jf b'O{ eGbf a9L efu -Two or more parts of a single question_ jf Pp6f 

k|Zg cGtu{t b'O{ jf a9L l6Kk0fLx? -Short notes_ ;f]Wg ;lsg] 5 .  

!!= k/LIffdf ;f]lwg] k|Zg;+Vof, cÍ / cÍef/ oyf;Dej ;DalGwt kq÷ljifodf lbO{P cg';f/ x''g]5 . 

!@= ljifout k|Zg x'g] kq÷ljifosf k|To]s efu÷v08÷PsfOsf nflu 5'§f5'§} pQ/k'l:tsfx? x'g]5g\ . 

kl/IffyL{n] k|To]s efu÷v08÷PsfO{sf k|Zgx?sf] pQ/ ;f]xLefu÷v08÷PsfO{sf] pQ/k'l:tsfdf 

n]Vg'kg]{5 .  

!#= o; kf7\oqmd of]hgf cGtu{tsf kq÷ljifosf ljifoj:t''df h];'s} n]lvPsf] eP tfklg kf7\oqmddf 

k/]sf sfg"g, P]g, lgod tyf gLltx? k/LIffsf] ldlt eGbf # dlxgf cufl8 -;+zf]wg ePsf jf 

;+zf]wg eO{ x6fO{Psf jf yk u/L ;+zf]wg eO{_ sfod /x]sfnfO{ o; kf7\qmddf k/]sf] ;Demg''' 

kb{5 . 
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!$= k|yd r/0f (First Phase) sf] lnlvt k/LIffaf6 5gf}6 ePsf pDd]bjf/x?nfO{ dfq låtLo r/0f 

(Second Phase) sf] lnlvt k/LIffdf ;lDdlnt u/fOg]5 . 

!%= lnlvt k/LIffsf] k|yd r/0f (First Phase) df k|fKt u/]sf] k|fKtfÍsf] zt\ k|ltzt cÍ tyf låtLo 

r/0f (Second Phase) sf] k|fKtfÍx? hf]l8 s"n cÍsf] cfwf/df lnlvt k/LIffsf] glthf k|sflzt 

ul/g]5 . 

!^= lnlvt k/LIffdf 5gf}6 ePsf pDd]bjf/x?nfO{ dfq clGtd r/0fsf] sDKo'6/ ;Lk k/LIf0f / 

cGtjf{tf{df ;lDdlnt u/fOg]5 . cGtjf{tf{sf] k"0ff{Í km/s x'g]sf] xsdf cGtjf{tf{ km/s km/s 

x'g]5 .  

!&= lnlvt k/LIff / clGtd r/0fsf] sDKo'6/ ;Lk k/LIf0f / cGtjf{tf{sf] s'n cÍ of]usf cfwf/df  

clGtd k/LIffkmn k|sflzt ul/g]5 . 

!*= plNnlvt k/LIff of]hgf nfu" ePkl5 of] eGbf cufl8sf] k/LIff of]hgf vf/]h x'g]5 . 

!(=  kf7\oqmd nfu" ldltM – @)^*÷)&÷!* b]lv 

@)=  k/LIff of]hgf / kf7\oqmd ;+zf]wg ldlt M– @)&@÷)$÷@! ut]  
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k|ydkq M– ;fdfGo 1fg / ;fdfGo Aff}l¢s k/LIf0f 

!= ;fdfGo 1fg       #) k|Zg × @ cÍ Ö ^) cÍ 

 !=! a|Xdff08 ;DaGwL hfgsf/L . 

  !=!=! ;f}o{d08nM ;"o{, u|x, pku|x, lzz'u|x, pNsf, w"ds]t'/k'R5]« tf/fx?, cflb .   

  !=!=@ k[YjLM kl/ro, pTklQ / ult . 

!=@ ljZjsf] e"uf]n – dxfb]z, dxf;fu/, w|'j, cIff+z, b]zfGt/, cGt/f{li6«o ltly /]vf, ;do, b"/L, 

kj{t>[+vnf, d?e"ld, e"sDk, Hjfnfd'vL, gbL, lxdgbL, tfn, lxdtfn, hnjfo', Jofkfl/s jfo", 

dg;'g, cflb .  

!=# g]kfnsf] e"uf]n  

  !=#=!  w/ftnLo :j?ksf] lsl;d, ljz]iftfx? . 

  !=#=@  k|fs[lts ;|f]tx?M lsl;d, pknlAw / jt{dfg cj:yf . 

  !=#=#  ef}uf]lns ljljwtf / hghLjg . 

!=#=$ g]kfndf kfO{g] xfjfkfgLsf] lsl;d / ljz]iftf . xfjfkfgLsf] ljljwtfaf6 pTkGg ePsf 

cfly{s tyf ;fdflhs lqmofsnfk / lhljsf]kfh{gdf ljljwtf . 

!=$ ljZjsf] Oltxf; – DofUgfsf6f{, cf}Bf]lus j|mflGt, k|mfG;sf] /fHoj|mflGt, cd]l/sL :jtGqtf ;ª\u|fd, 

?;L ÷ cS6f]j/ j|mflGt, k|yd / låtLo ljZjo'4 tyf ef/tLo :jtGqtf ;ª\u|fdÙ 36gf, sf/0f / 

kl/0ffdx? . 

!=% g]kfnsf] Oltxf; -k|frLg sfnb]lv xfn;Dd_  

  !=%=! ls/fFtsfn, lnR5ljsfn / dWosfnÙ ;fdflhs, cfly{s Pj+ /fhgLlts cj:yf . 

!=%=@ cfw'lgs Oltxf;Ù /fhgLlts 36gfqmd, sf/0f / kl/0ffdx? . 

!=^ g]kfnsf] ;fdflhs Pj+ ;f+:s[lts cj:yf 

!=^=! k|yf, k/Dk/f, d"No / dfGotf, wd{, hfthflt, efiffefifL, ;+:s[lt, snf, ;flxTo, ;+uLt, 

cflb .  

  !=^=@ ;f+:s[lts ;Dkbfsf] lsl;d, ljz]iftf, dxTj . 

!=& g]kfnsf] cfly{s cj:yfM  ljsf;sf k"jf{wf/x? -s[lif, pBf]u, Jofkf/, ko{6g, oftfoft, ;+rf/, 

lzIff, :jf:Yo, ljB't, cflb_  / ljsf; of]hgf . 

!=* lj1fg k|ljlw / :jf:YoM lgDglnlvt ljifodf ;fdfGo hfgsf/L    

  !=*=! lj1fg k|ljlwsf] ljsf;af6 dfgj hLjgdf k/]sf] k|ToIf k|efj . 

!=*=@ h}ljs k|ljlw, ;'"rgf tyf ;~rf/ k|ljlw / j}slNks phf{ . 

  !=*=# qmdljsfz / j+zf0f', :jf:Yo, /f]u, vf]k, vfB, kf]if0f, ;/;kmfO{ .  

!=*=$ b}lgs hLjgdf k|of]u x'g] j:t'x? ;fa'g, Knfli6s, /];f, sfFr, dn / ls6gfzs cf}ifwL, 

cflb . 

!=( kfl/l:ylts k4lt / jftfj/0f 

  !=(=! kfl/l:ylts k4ltsf] kl/ro / k|sf/ tyf hLj e"–/f;folgs rqm . 

  !=(=@ lbuf] ljsf;, h}ljs ljljwtf, b'n{e kz'kG5L / jg:kltx?, ljZjJofkL pi0ftf, hnjfo' 

kl/jt{g, xl/tu[x k|efj, cf]hf]g ljgf;, jftfj/0f, k|b'if0f, hg;+Vof, Zfx/Ls/0f, a;f]jf; 

-aF;fO{;/fO{_, cflb . 

!=!) cGt/f{li6«o ;DaGw tyf ;+3÷;+:yf  

  !=!)=! g]kfnsf l5d]sL b]zx?, tyf a]nfot, cd]l/sf,hfkfg, cflb;Fusf] ;DaGw . 

  !=!)=@ ;+o'Qm /fi6«;+3M cª\u, ljlzi6Ls[t ;+:yf / ultljlwx? . 

!=!)=# If]qLo ;+u7gM ;fs{, lad:6]s, cfl;ofg, o'/f]lkog ;+3 .  
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!=!! /fli6«o / cGt{/fli6«o dxTjsf /fhgLlts, ;fdflhs, cfly{s, j}1flgs, ;f+:s[lts, v]ns"b, k':ts, 

k'/:sf/, snf, ;flxTo, ;+uLt, cflb nufot ;d;fdlos 36gf tyf gljgtd ultljlwx? / 

dxTjk"0f{ JolQmTj tyf ljrf/sx? ;DaGwL hfgsf/L .  

 

@= ;fdfGo Aff}l¢s kl/If0f      @) k|Zg × @ cÍ Ö $) cÍ 

@=! zflJbs tfls{s k/LIf0fM 

af]w, zAb1fg, cg'qmd, ;d?ktf, juL{s/0f, sf]l8ª– l8sf]l8ª, 5f]l8Psf cIf/÷;+s]t ldnfpg], 

lbzf / b'/L 1fg k/LIf0f, tfls{s ljZn]if0f, >]0fLqmd -k+lQmqmd_, egfO{ / sf/0f, cfudg, lgudg, 

sfo{÷cj:yfsf] l;nl;nf, cflb . 

 

@=@ dfqfTds -;+VofTds jf c+s ;DaGwL_ tfls{s k/LIf0fM 

cg'qmd ->]0fLqmd_, ;d?ktf, juL{s/0f, sf]l8ª, 5f]l8Psf ;+Vof -cIf/÷;+s]t_ ldnfpg], ;femf 

u'0f, d]l6«S;, tYof+s JofVof, tYof+s hfFr  -?h'_, c+sul0ftLo ts{ ÷lqmof ;DaGwL, k|ltZft, leGg, 

bzdnj, cg'kft, cf};t, Gffkmf, gf]S;fg, ldlt/kfqf], ;do / sfd, cflb . 

 

@=# czflAbs tfls{s k/LIf0fM 

cg'qmd, ;d?ktf, Ps?ktf, juL{s/0f, tfls{s lrqfTds ljZn]if0f, e]g lrq, d]l6«S; lrq, lqe'h 

/ ju{x?sf] /rgf, lrq jf cfs[lt agfj6 / ljZn]if0f, ljGb' :yfg/l:ylt, kfgLdf b]lvg] cfs[lt, 

P]gfdf b]lvg] cfs[lt, cGtlg{lxt cfs[lt, lrqsf] :yfgfGt/0f, cflb . 

 

;dfKt 

k|ydkq ;fdfGo 1fg / ;fdfGo Aff}l¢s kl/If0f ljifosf kf7\oqmdsf PsfO{x?af6 ;f]lwg] k|Zgx?sf] ;+Vof 

lgDgfg';f/ x'g]5 . ;fdfGo 1fgdf oyf;Dej qmdzM Level I  sf ^) k|ltzt / Level II sf $) k|ltzt 

k|Zgx? ;f]lwg]5 . 

 

k|ydkq ;fdfGo 1fg ;fdfGo Aff}l¢s 

k/LIf0f 
cÍef/ 60 40 

PsfO 1=1 1=2 1=3 1.4 1.5 1.6 1.7 1.8 1.9 1.10 1.11 2.1 2.2 2.3 
k|Zg ;+Vof 1 2 4 1 2 4 3 3 3 2 5 6 8 6 

hDdf k|Zg (Level I = 18 / Level II = 12)   hDdf 30 20 

 

Level I Questions  

-rf/ ljsNkdfq ePsf ;fdfGo ax'j}slNks k|Zgx?_ 

 

Level II Questions  

-rf/ eGbf ljsNk al9 ljsNk x'g ;Sg] t/ rf/ ljsNkdfq k|bfg ul/Psf ax'j}slNks :j?ksf t/ 

l7s‐a]l7s, hf]8fldnfpg], vfln 7fpF eg]{, sf/0f / k|efj ;DaGw k|Zgx?, gldNbf] 5'§\Øfpg] k|Zgx?_ 
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(In English) 

PAPER I: - General Knowledge & General Mental Ability Test  

1. General Knowledge        60 Marks 

1.1  General information about the universe. 

1.1.1 The solar system: sun, planets, satellites, asteroids, meteors, comets, etc 

1.1.2 The earth: introduction, origin and motion of the earth. 

1.2 Geography of World - continent, ocean, pole, latitude, longitude, international 

date  line, time, distance, mountains, deserts, earthquake, volcano, rivers, 

glaciers, lakes, climate, trade winds, monsoon etc.  

1.3 Geography of Nepal  

1.3.1 Types and characteristics of physical features.  

1.3.2 Natural resources: types, achievement and existing scenario.   

1.3.3 Diversified geographical features and life.  

1.3.4 Types and characteristics climate of Nepal. Socio-economic activities and 

diversity in livelihood due to diversified climate. 

1.4 History of the World - Magna Carta, Industrial revolution, French revolution, 

American war  of independence, Russian revolution / October revolution, First 

and Second World wars and Indian movement for independence; events, causes 

and effects. 

1.5 History of Nepal (From ancient period till now) 

1.5.1 Social, economic and political conditions of Kiranti Period, Lichhavi Period 

and Malla Period. 

1.5.2 Modern history of Nepal notable political events, causes and consequences.  

1.6 Social and cultural aspects of Nepal 

1.6.1 Customs, traditions, norms, values, religions, ethnicity, languages, cultures, 

arts, literature, music, etc.  

1.6.2 Type, characteristics and importance of cultural heritages.  

1.7 Economic status of Nepal: Infrastructures of development (agriculture, industry, 

trade, tourism, transportation, communication, health, electricity, etc) and 

development planning.  

1.8 Health, science and technology: General information about 

1.8.1 Direct impact of science and technology development in human life. 

1.8.2 Alternative energy, information communication technology, and 

biotechnology. 

1.8.3 Evolution and heredity, health, diseases, vaccines, food, nutrition and 

sanitation. 

1.8.4 Materials used in daily life including soap, plastics, fibre, glass, fertilizers, 

insecticides / pesticides, etc. 
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1.9 Ecosystem and environment 

1.9.1 Introduction and type of ecosystem, and bio-geo chemical cycle. 

1.9.2 Sustainable development, bio-diversity, rare flora and fauna, global 

warming, climate change, green house effect, depletion of ozone, 

environment, pollution, population, urbanization, settlement (migration), 

etc.   

1.10 International affairs and institutions  

1.10.1 Relations of Nepal with neighboring countries and other countries 

including Britain, America, Japan, etc.  

1.10.2 United Nations: bodies, specialized agencies and activities of the UNO.  

1.10.3 Regional organizations: the SAARC, BIMSTEC, ASEAN, EU. 

1.11 Information on current affairs and events including political, social, economic, 

scientific, cultural, sports, books, prizes, arts, literature, music, etc of national 

and international importance, and noted personalities and thinkers.   

 

2. General Mental Ability Test (GMAT)     40 Marks 

2.1 Verbal reasoning test: 

Comprehension, vocabulary, series, analogy, classification, coding-decoding, 

insert the missing character, direction and distance sense test, logical 

reasoning, ranking order, assertion and reason, induction, deduction, courses 

of action, etc. 

 

2.2 Quantitative (Numerical) reasoning test 

Series/sequence, analogy, classification, coding, insert the missing character, 

common property, matrices, data interpretation, data checking, arithmetical 

reasoning /operation, percentage, fraction, decimal, ratio, average, loss, profit, 

date/calendar,  time and work, etc.     

 

2.3 Non-verbal reasoning test: 

 Series, analogy, symmetry, classification, analytical reasoning, Venn 

diagrams, figure matrix, construction of squares and triangles, figure 

formation and analysis, dot situation, water images, mirror images, embedded 

figures, transposition of figures, etc.  

 

---End--- 
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k|yd kqM ;fdfGo 1fgsf gd'gf k|Zgx?  

(Paper I: Sample Questions of General knowledge) 

Level I Questions 

1. s'g} 7fFpsf] :yfgLo ;do 06:00 a.m. x'Fbf u|LgjLr dWofGx ;do (GMT) 02:00 a.m. 5 eg] To; 

7fFpsf] b]zfGt/ (longitude) slt x'G5 <  

 The local time of a place is 06:00 a.m., when the Greenwich Mean Time (GMT) is 02:00 

a.m. What is the longitude of the place? 

 A)       B)       C)       D)     

 

2. k|l;4 k"jL{o /fhgLlts lrGts Pj+ cy{zf:qL sf}l6Nosf] jf:tljs gfd s] lyof] < 

 What was the real name of Kautilya, a famous political thinker and economist of the east? 

 A)  rGb| u'Kt (Chandra Gupta) B)  lji0f' u'Kt (Vishnu Gupta)  

 C)  rf0fSo (Chanakya) D)   lrq u'Kt (Chitra Gupta) 

 

3. dfgj z/L/sf] ;Gt'ngsf] d'Vo cË sxfF cjl:yt x'G5 < 

 Where is human body's main organ of balance located? 

 A) sfgsf] leqL efudf (inner part of ear)  

 B)  sfgsf] dWo efudf (middle part of ear) 

 C)  dl:tissf] cu| efudf (front part of brain)  

 D)  d]?b08sf] dflynf] efudf (top part of vertebral column) 

  

4. d]rL gbL g]kfnsf] =============== sf] gbL xf] . o;nfO{ ef/tdf k|j]z u/]kl5 =================== gbLsf 

gfdn] lrlgG5 . 

 Mechi River is the.......... river of Nepal. After entering to India, it is known as name of 

……. river. 

 A)   klxnf] :t/ – dxfgGbf (First category – Mahananda) 

 B)   klxnf] :t/ –  bfdf]b/ (Second category – Damodar) 

 C)   bf];|f] :t/ – dxfgGbf (Second category – Mahananda)    

 D)   bf];|f] :t/ –  bfdf]b/ (First category – Damodar) 

 

5. Ps ljjflxt hf]l8n] Pp6f afns s]6f]nfO{ wd{k'q ckgfPsf lyP . s]lxjif{ kl5 To; hf]l8af6 h'Dnfxf 

afns -5f]/f_ x?sf] hGd eof] . Tof] hf]l8sf] Pssf] /St ;d'x 'AB' ;sf/fTds / csf{sf] 'O' 

gsf/fTds 5 . tLg j6f 5f]/fx? dWo] Pssf] /St ;d'x 'A' ;sf/fTds, bf];|f]sf] 'B' ;sf/fTds / 

t];|f]sf] 'O' ;sf/fTds 5 eg] pgLx?sf] wd{k'qsf] /St ;d'x s'g xf]nf < 

 A married couple adopted a male child. A few years later, twin boys were born to them. 

The blood group of the couple is 'AB' positive and 'O' negative. The blood group of the 

three sons is 'A' positive,' B' positive, and 'O' positive. The blood group of the adopted son 

is 

A) 'O' ;sf/fTds (positive) 

B) 'A' ;sf/fTds (positive) 

C) 'B' ;sf/fTds (positive) 

D) lbOPsf] hfgsf/L÷;'rgfsf] cfwf/df eGg ;lsGg .  

(Cannot be determined on the basis of the given data) 
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6. lgDglnlvt sygx? dWo] s'g syg 7Ls xf]Og, 5fGg'xf];\ . 

A) DofUgfsf6f{nfO{ dfgjclwsf/ ljsf;sf] k|frLg b:tfj]h dflgG5 . 

B) cf}Bf]lus qmflGtsf] ;'?jft O6fnLaf6 ePsf] lyof] . 

C) k|mfG;sf] /fHoqmflGtnfO{ af}l4s qmflGt klg elgG5 . 

D) ef/tLo :jtGqtf cfGbf]ngdf ;g\ !(!(–!($& ;Ddsf] cjlwnfO{ ufGwL o'u eg]/ klg lrlgG5 .  

 Which of the following statements is NOT correct? 

A) The Magna Carta is considered to be the ancient document of the development of 

human rights. 

B) The Industrial Revolution commenced from Italy.  

C) The French Revolution is also called the Intellectual Revolution.  

D) The period of 1919-1947 A.D. is also known as the Gandhi Era in the Indian freedom 

movement.  

Level II Questions 

7. eujfg a'4n] lgDglnlvt rf/ cfo{ ;To k|rf/ u/]sf lyP . tL rf/ cfo{ ;TonfO{ tn lbO{Psf] sf]8 

k|of]u u/L ;lx qmddf /fVg'xf];\ . 

Lord Buddha had preached the following four noble truths. Put them in correct order 

using the code given below. 

1. ;+;f/df b'Mv 5 jf ;+;f/ g} b'Mv xf] . (There is suffering.) 

2. b'Mvsf] lg/f]w x'G5 jf b'Mv /f]Sg ;lsG5 . (There is cessation of suffering.) 

3. b'Mv lg/f]wsf] nflu Ps k|d'v dfu{÷pkfo 5 . (There is a path leading to the cessation of 

suffering.) 

4. b'Mvsf] sf/0f 5 . (There is cause of suffering.) 

A) 1- 2 - 3 - 4  B)    1- 4 - 2 – 3 C)  4- 1 - 3 - 2  D)    1- 2 - 4 - 3 

 

8. ;d"x I / II df hf]8f ldnfpg'xf];\ / sf]8af6 ;xL pQ/ 5fGg'xf];\ .  

 Match Group I and Group II and choose the correct answer from the codes. 

   ;d"x (Group ) I ;d"x (Group) II 

 a)  Pl;of (Asia) 1. gofF ;+;f/(New World) 

 b)  o'/f]k (Europe) 2. ljifdtfsf] dxfb]z (Continent of Extremes) 

 c) pQ/ cd]l/sf (North America) 3. ;a}eGbf ;fgf] dxfb]z (Smallest Continent) 

 d) ci6«]lnof (Australia) 4. k|foåLkx¿sf] klg k|foåLk 

                                                  (Peninsula of Peninsulas) 

sf]8 (Code) a b c d 

 A) 2         4          1          3 

 B) 2         1          3          4 

 C) 4         1          2          3 

 D) 1         2          3          4 

 

9. lgDglnlvt sygx? af/]df ljrf/ ug'{xf];\ M  

1. :jfOg ˆn" (Swine Flu) k|efljt If]qdf hf] sf]lx JolQm :jfOg ˆn"af6 k|efljt÷ ;+qmldt x'g] 

plts} cj:yf /xG5 .  

2. k|lt hLjf0f' cf}ifwLx?sf] :jfOg ˆn"sf] k|fylds pkrf/df s'g} e"ldsf x'Fb}g . 

3. dxfdf/L If]qdf eljiodf :jfOg ˆn" km}ngaf6 /f]Sgsf] nflu If]qleq ePsf ;Dk"0f{ ;'Fu'/x? (Pigs)  

dfg'{k5{ .  
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 Consider the following statements: 

1. Every individual in the population is equally susceptible host for Swine Flu. 

2. Antibiotics have no role in the primary treatment of Swine Flu. 

3. To prevent the future spread of Swine Flu in the epidemic area, the swine (pigs) must 

all be culled. 

 dfly plNnlvt sygx?df s'g l7s xf]÷ x'g\ <  

 Which of the statement given above is/are correct? 

 A) 1 / 2 dfq (1 and 2 only) B) 2 dfq  (2 only) 

 C) 2 / 3 dfq (2 and 3 only) D) 1, 2 / 3 ;a} (All 1, 2 and 3) 

 

10. ;d"x I / ;d"x II df hf]8f ldnfpg'xf];\ / sf]8af6 ;xL pQ/ 5fGg'xf];\ .  

Match Group I and Group II and choose the correct answer from the codes. 

  ;d"x(Group) I  ;d"x (Group) II 

a) g]kfnsf] >Ln+sf (Sri Lanka of Nepal) 1) b}n]vsf] b'Nn' (Dullu of Dailekh) 

b) Hjfnfd'vLsf] lrGx (Trace of Volcano) 2) sf]zL6Kk' (Koshi Tappu) 

c) :ju{åf/L tLy{:yn (Swargadwari Pilgrimage) 3) d':tfª (Mustang) 

d) g]kfnsf] d?e"ld (Desert of Nepal) 4) Ko'7fg (Pyuthan) 

  

sf]8 (Code) 

A)  a-2, b-4, c-3, d-1   B)  a-2, b-1, c-4, d-3  

C)  a-3, b-4, c-1, d-2   D)  a-4, b-3, c-2, d-1 

 

11. lgDg b]zx?sf af/]df ljrf/ ug'{xf];\M  (Consider the following countries): 

 1) a|'gfO{ (Brunei),   2) k"jL{ l6df]/ (East Timor),  3)  nfcf]; (Laos) 

 

 cfl;ofg (ASEAN) sf] ;b:o dfly plNnlvt b]zx?df s'g xf]÷s'g s'g x'g\ <  

 Which of the above countries is/are member/members of ASEAN? 

  

 A) 1 dfq (1 only) B) 2 / 3 dfq (2 & 3 only) 

 C) 1 / 3 dfq (1 & 3 only) D) 1, 2 / 3 ;a} (All 1, 2 & 3) 

 

12. lgDg lnlvt 36gf -v]n_ / v]n x'g] b]zsf] hf]8fx?df gldNg] hf]8f s'g xf] <  

  36gf -v]n_              v]nx'g] b]z  

A) lkmkmf ljZjsk, @)!$   –  a|flhn 

B) Pl;ofnL v]ns"b, @)!$  – blIf0f sf]l/of 

C) zLtsfnLg cf]n+lks v]ns"b, @)!$ –  hfkfg 

D) u|LidsfnLg cf]n+lks v]ns"b, @)!^ – a|flhn 

Which one of the following pairs of events (sports) and host country is NOT correctly 

matched? 

 Events (Sports) Host Countries 

A) 2014 FIFA World Cup - Brazil 

B) 2014 Asian Games - South Korea 

C) 2014 Winter Olympic Games - Japan 

D) 2016 Summer Olympic Games - Brazil 
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;fdfGo Aff}l¢s k/LIf0fsf gd'gf k|Zgx? ( Sample Questions of General Mental Ability Test) 

 

1. olb 'PROMIDANCY'  zAbsf] bf];|f], kfFrf}, 5}7f}, ;ftf} / bzf} cIf/x?af6 Ps dfq cy{k"0f{ zAb 

agfpg ;Dej x'G5 eg] s'g cIf/ cufl8af6 t];|f] :yfgdf cfpF5 < olb tL cIf/x?af6 Ps eGbf 

a9L cy{k"0f{ zAbx? aGb5g eg] 'M' pQ/ lbg'xf];\ . olb tL cIf/x?af6 s'g} cy{k"0f{ zAb agfpg 

;lsb}g eg] 'N' pQ/ lbg'xf];\ .  

If it is possible to make only one meaningful word with the second, fifth, sixth, seventh 

and tenth letters of the word 'PROMIDANCY', which would be the third letter of the 

word from the front? If more than one such word can be formed, give 'M' as the answer. 

If no such word can be formed, give 'N' as your answer. 

A) A  B) I  C) M  D) N 

2. I, II, III, IV / V x? dWo] k|To]ssf] km/s km/s prfO{ 5 . II, V eGbf dfq cUnf] 5 . III, I eGbf 

xf]rf] t/ IV eGbf cUnf] 5  eg] tLgLx? dWo] t];|f] cUnf] sf] 5 < 
Among I, II, III, IV and V, each has a different height. II is taller than only V. III is 

shorter than I but taller than IV. Who is third tallest among them? 

A)  III          B)  IV  C)  II               D)  Data inadequate  -hfgsf/L ck"0f{_        

3. lbO{Psf] qmd÷>]0fLdf k|ZglrGx (?) /flvPsf] 7fpFdf s] x'G5 < 

What will come at place of question mark (?) of the following series? 

i) BA, ED, JI, ?, ZY 

A) OP  B) PO  C) PQ  D) QP 

ii) 1, 1, 4, 8, 9, (?), 16, 64 

A) 12  B) 24  C) 25  D) 27 

4. tn lbO{Psf] qmd÷>]0fLdf cufl8af6 s'g cIf/ krf;f} (50th) :yfgdf cfpF5 < 

In the following series, which letter occupies 50th position from front? 

aababcabcdabcde... 

A)  d  B)  e  C)  f  D)  g 
5. lbOPsf ljsNkx? dWo]af6 5f]l8Psf ;+Vof kQf nufpg'xf];\ . 

Find the missing number from the given response. 

i) 

1 7 9 

2 14 ? 

3 105 117 

  A) 28     B) 18      C) 16        D) 12 
 

ii) 

 16    64    256  

1 10 9  25 27 100  36 ? 144 

 4    16    64  

  A) 42    B) 48      C) 60        D) 72 

 

6. olb 43  21 = 20  / 69  35 = 46 x'G5 eg] 92  31 = ? 

If 43  21 = 20 and 69  35 = 46, then 92  31 = ? 

A) 30  B) 36  C) 54  D) 64 

7. olb (If) DOLL is 6199, COCK is 5153,  CROW is 5812 and FOOD is 4116.  

Then RICE is --(?)-- 

A) 8753  B) 8756  C) 8051  D) 8057 
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8. tn lbOPsf] lrqdf lqe'hx?sf] (Triangles) s'n ;+Vof slt 5 ? 
What is the number of Triangles in the figure given below? 

 

 
  A) 52    B) 54    C) 56        D) 58 

 

9. lgDg cfs[ltaf/] ljrf/ ug'{xf]; / To;kl5 lbOPsf] k|Zgsf] pQ/ lbg'xf];M 

Consider the following figure and answer the item that follows: 

 40 

40  

dfly cfs[ltdf b]lvP cg';f/ Ps ju{ (square) nfO{ rf/ j6f cfot (rectangle) x?df ljefhg 

ul/Psf] 5 . cfotx?sf e'hfx?sf] nDafO{ k"0f{;+Vofx?df 5g . cfs[ltdf b'O{ j6f cfotx?sf] If]qkmn 

(area) c+lst ul/Psf] 5 . lgDg ;+Vofx? dWo] s'g Ps ;+Vofn] dfly lbOPsf] ju{  -cfs[lt_ sf] k|To]s 

e'hfx?sf] nDafO{sf] k|ltlglwTj ub}{g < 
A square is divided into four rectangles as shown above. The lengths of the sides of 

rectangles are natural (whole) numbers. The areas of two rectangles are indicated in the 

figure. Which one of the following numbers does not represent the length of each side of 

the square (figure) given above? 

  A) 13     B) 14      C) 20        D) 22 

10. s'g} Ps lglZrt sf]8 efiffdf MEDIUM nfO{ NDEHVL n]lvG5 . Tof] sf]8 efiffdf MIDDLE 

nfO{ s;/L n]lvG5 < 
In a certain code language MEDIUM is written NDEHVL. How is MIDDLE written in 

that code? 

A) NHEEMD  B) NHECMD  C) NHCEMD  D) NHEEKD 

11. 600 sf] 60% sf] 60% slt x'G5 < 

What is 60% of 60% of 600? 

  A) 360     B) 216      C) 144        D) 300 

12. tn plNnlvt k|Zgsf] klxnf] nx/df afofF b]lv bfofF ;lrq sf]7fx? lglZrt lgod cg';f/ qmda4 

?kdf /x]sf 5g\ . o;} lgod cg';f/ bf];|f] nx/sf] s'g lrqn] klxnf] nx/sf] k|Zg lrGx   -<_ ePsf] 

lrqnfO{ k|lt:yfkg u5{ ;f] kQf nufpg' xf];\ < 

The elements of first line figures below are changing with a certain rule as we observe 

them from left to right. According to this rule, which of the following second line figure 

would replace the question mark (?) figure in the first line if the changes were continued 

with the rule? 

 

 

  A        B        C        D                                  
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13. s'g} nfO{g÷nx/df /fd cufl8af6 aL;f+} :yfgdf 5 tyf Zofd k5fl8af6 PstL;f+} :yfgdf 5 .  

hals /fd / Zofdsf] 7Ls aLrdf s[i0f 5 . olb Zofd eGbf cufl8 nfO{g÷nx/df /fd 5 / To; 

nfO{g÷nx/df hDdf 66 hgf JolQmx? 5g eg] /fd / s[i0fsf] aLrdf slt hgf JolQmx? 5g\ < 

In a queue, Ram is twentieth position from the front and Shyam is thirty-first position 

from the end, while Krishna is exactly in between Ram and Shyam. If Ram is ahead of 

Shyam and there are 66 persons in the queue, how many persons are there between Ram 

and Krishna? 

A) 15  B) 14   C) 8   D) 7 

14. 'M' / 'N' sf] 3/x? pQ/–blIf0f uPsf] af6f]df cfd'g] ;fd'g] 5g\ . 'M' sf] 3/ klZrd lbzfdf 5 . 

'M' 3/af6 lg:s]/ afFof kms]{/ 6 ls=ld=lx8\5 / To;kl5 p bfFof kms]{/ cufl8 8 ls=ld=lx8\bf 'Q' sf] 

3/ ;fd'g] cufl8 k'U5 . 'M' n] h:t} 7Ls p:t} 'N' n] u5{ / To;kl5 'P' sf] 3/ ;fd'g] cufl8 k'U5 

. o;} cfwf/df lgDg sygx? dWo] s'g syg ;xL xf]Og < 5fGg'xf]; . 

A) P / Q sf] 3/x?sf] b'/L 20 ls=ld=eGbf sd 5}g\ . 

B) P sf] 3/ Q sf] 3/ b]lv blIf0f–klZrd lbzfdf k5{ .   

C) M / P sf] 3/x?sf] b'/L 10 ls=ld= eGbf a9L 5 .  

D) Q sf] 3/ N sf] 3/ b]lv pQ/–k"j{ lbzfdf k5{ .   

The houses of 'M' and 'N' face each other on a road going north-south. M's being on the 

western side. 'M' comes out of his house, turns left, travels 6 km and again, turns right, 

travels 8 km ahead and reaches the front of  Q's house. 'N' does exactly the same and 

reaches the front of P's house. In this context, which one of the following statements is 

NOT correct? 
 

A) The houses of P and Q are not less than 20 km apart. 

B) P's house lies in south-west direction from Q's house. 

C) The houses of M and P are more than 10 km apart. 

D) Q's house lies in north-east direction from N's house. 
 

15. lbO{Psf] d]l6«S; k'/f ug{'xf]; < 

Complete the given matrix. 
 

 

 
 
 

 
     A      B      C       D 

16. ;ft (7) ljifox?sf] cÍsf] cf};t ;f¶L (60) 5 . olb cufl8sf rf/ (4)  ljifox?sf]  cÍsf]  cf};t 

lq;¶L (63)  / k5fl8sf rf/ (4) ljifox?sf] cÍsf] cf};t krkGg (55) 5 eg] rf}yf] ljifosf] cÍ 

slt 5 < The average of marks of 7 papers is 60. The average of marks of the first 4 

papers is 63 and the average of marks of the last 4 papers is 55. What are the marks of 

the fourth paper? 

A)  52          B)  59  C)  59.33         D)  Data inadequate  -hfgsf/L ck"0f{_        

17. tLg JolQmx? Ps;fy lx8\g z"? ub{5g\ / tLgLx?sf] kfO{nfsf] gfk qmdzM 30 cm, 35 cm / 36 cm 

5 . k|To]s JolQmx?n] k"0f{ kfOnfx?df ;dfg b'/L kf/ ug{ slt Go"gtd b'/L lx8\g' k5{ < 
Three persons start walking together and their steps measure 30 cm, 35 cm and 36 cm 

respectively. What is the minimum distance each should walk so that each can cover the 

same distance in complete steps? 

A)  6 m 30 cm         B)  12 m 60 cm C)  18 m 90 cm        D)  3 m 15 cm  

 



nf]s ;]jf cfof]u 

ck|fljlws tkm{sf Gofo, k//fi6«, k|zf;g, n]vfk/LIf0f / ;+;b ;]jf, /fhkq cg+lst k|yd >]0fL, gfoj ;'Aaf jf ;f] ;/x 

kbsf] v'nf k|ltof]lutfTds k/LIffsf] kf7\oqmd 

PSC/Page 14 

18. tn lbOPsf ljsNkx?dWo] ;d"xdf gldNg] ljsNk s'g xf] < 

Which is odd one on the following alternatives?  

A) PKJQ  B) RIGT  C) WDBY  D) SHFU 

 

19. lgDg k|Zgx?sf] nflu lgb]{zg (nos.19 - (i) & (ii)).   

Psdfq ;+Vofx?sf] ;d'xåf/f Pp6f zAbnfO{ lbOPsf] ljsNkx? dWo] s'g} Psdfq ljsNkn] k|ltlglwTj 

ul/Psf] 5 . ljsNkx?df lbOPsf] ;+Vofx?sf] ;d'xnfO{ lgDg adf]lhdsf] b'O{ d]l6«S;x? (Matrices) 

df b'O{ lsl;dsf j0ff{g'qmd -cIf/x?_ n] hgfOPsf] 5 . d]l6«S; I (Matrix I) sf] 7f8f] nx/x? 

(Columns) / t];|f] k+lQmx? (Rows) nfO{ 0 b]lv 4 cÍx? / d]l6«S; II (Matrix II) sf] 7f8f] nx/x? 

/ t];|f] k+lQmx?nfO{ 5 b]lv 9 cÍx?n] hgfOPsf] 5 . tL d]l6«S;x?sf] j0ff{g'qmd      -cIf/_ nfO{ 

klxn] d]l6«S;sf] t];|f] k+lQmx? (Rows) / To;kl5 d]l6«S;sf] 7f8f] nx/x? (Columns) n] hgfpg 

;lsG5 . h:t} 'M' nfO{ 10, 34, 41, cflbn] hgfpg ;lsG5 .  'O' nfO{ 13, 32, 44 cflbn] hgfpg 

;lsG5 . To;}u/L tkfFO{n] k|To]s k|Zgdf lbOPsf] zAb (word) sf] nflu Ps ;+Vofx?sf] ;d'x kQf 

nufpg' kg]{5 . 

For direction the following items (nos.19 - (i) & (ii)). 

A word is represented by only one set of numbers as given in any one of the alternatives.  

The sets of numbers given in the alternatives are represented by two classes of alphabets 

(letters) as in the 2 matrices given below. The columns and rows of Matrix I are 

numbered from 0 to 4 and that of Matrix II from 5 to 9. A letter from these matrices can 

be represented first by its row and column number.e.g. 'M' can be represented by 10, 34, 

41, etc. 'O' can be represented by 13, 32, 44, etc. Similarly you have to identify the set 

for the word given in each question. 

Matrix I  Matrix II 

 0 1 2 3 4   5 6 7 8 9 

0 F O R M S  5 G I V E N 

1 M S F O R  6 E N G I V 

2 O R M S F  7 I V E N G 

3 S F O R M  8 N G I V E 

4 R M S F O  9 V E N G I 
 

i) FROG 

A) 31, 21, 32, 89     B) 12, 33, 32, 98   

C) 43, 14, 13, 86    D) 24, 21, 31, 86  

ii) RISE 

A)  21, 86, 11, 77     B) 33, 68, 23, 98   

C) 14, 75, 30, 77    D) 21, 75, 40, 89  

 

20. P, Q / R tLg cf]6f efF8f]x? 5g\ . tL efF8f]x?sf] Ifdtf qmdzM 12 nL6/,  20 nL6/ / 32 nL6/ 

5 .  efF8f] R df 32 nL6/ b'w 5 . tL tLg efF8f]x?sf] dfq k|of]u u/L b'wnfO{ ljefhg ug'{k5{ .  

lgDglnlvt sygx? af/]df ljrf/ ug'{xf];\M 

1. efF8f] P  / efF8f] Q  k|To]sdf 12 nL6/ b'w /fVg ;Dej x'G5 .  

2. efF8f] Q  / efF8f] R  k|To]sdf 16 nL6/ b'w /fVg ;Dej x'G5 .  

 

 dfly plNnlvt sygx?df s'g l7s xf]÷ x'g\ <  

A) 1 dfq   

B) 2 dfq  

C) 1 / 2 b'a} xf]    

D) 1 / 2 b'a} xf]Og 
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There are three pots P, Q and R. The capacities of P, Q and R are 12 litres, 20 litres 

and 32 litres respectively. The pot R contains 32 litres of milk. The milk has to be 

divided in them using these three pots only. 

Consider the following statements:  

1. It is possible to have 12 litres of milk each in pot P and pot Q. 

2. It is possible to have 16 litres of milk each in pot Q and pot R. 

 Which of the statements given above is/are correct?  
 

A) 1 only  

B) 2 only 

C) Both 1 &2 

D) Neither 1 nor 2 

 

21. tn lbOPsf] k|Zgdf b'O{ j6f :6]6d]06 pNn]v ul/Psf] 5 klxnf]nfO{ egfO{ (Assertion) / csf]{nfO{ 

sf/0f (Reason) elgPsf] 5 . k|Zgdf lbOPsf] Statement af/] lgDg sf]8x?sf] cfwf/df 7Ls 

pQ/ /f]]Hg'xf];\ . 

In the following question, there are two statements. First statement labeled as 

Assertion (A) and second statement labeled as Reason (R). According to statement 

given in the question, mark your correct answer as per the codes provided below: 

 

 egfO{ (A) M—  udL{ ofddf ;]tf] /+usf] sk8f nufpg' /fd|f] xf] . 

    It is good to wear white colour dress in summer.  

 sf/0f (R) M—  ;]tf] /+usf] sk8fn] k|sfz ;lhn} k/fj{tg u5{ . 

   White colour cloth reflects light easily.  

 

A) egfO{ (A) / sf/0f (R) b'a} 7Ls 5g\ / sf/0f (R) egfO{ (A) sf] 7Ls JofVof 

(explanation) xf]  

 Both (A) and (R) are true and (R) is the correct explanation of (A) 

B) egfO{ (A) / sf/0f (R) b'a} 7Ls 5g\ / sf/0f (R) egfO{ (A) sf] 7Ls JofVof 

(explanation) xf]Og\ 

 Both (A) and (R) are true but (R) is not the correct explanation of (A) 

C) egfO{ (A) 7Ls 5 t/ sf/0f (R) unt 5 

 (A) is true but (R) is false 

D) egfO{ (A) unt 5 t/ sf/0f (R) 7Ls 5 

 (A) is false but (R) is true 
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rt''y{ kq M– c+u|]hL efiff / s"6g}lts ljifo  

Paper IV: English Language & Diplomacy 

-g]kfn k//fi6« ;]jfsf] nflu dfq_  

 

Part I: English Language        (40 Marks) 

  

1.1 Translation from Nepali into English     1x10=10  

 A passage of about 75 words in Nepali (The passage will be related to some topic 

 in international relations/international politics, foreign policy/diplomacy). 

 

1.2 Communicative Grammar      5 (2x1)=10  

1.2.1 Meaning and use of 2 words in sentence (carrying 1 mark each) 

1.2.2 Use of 2 verbs in proper tense (carrying 1 mark each) 

1.2.3 Use of 2 appropriate prepositions (carrying 1 mark each) 

1.2.4 Correction of 2 grammatical errors (carrying 1 mark each) 

1.2.5 Answers to 2 telephone conversations (carrying 1 mark each) 

 

1.3 Comprehension        5x2 =10 

 An English Passage of about 150 words will be given with 5 questions, each 

 carrying 2 mark. 

 

1.4 Essay on one of five topics on contemporary issues in about 200 words. 

         1x10 = 10  

 

Part II: International Relations and Diplomacy     (60 Marks) 

               (10 Questions of 5 marks and 1 Question of 10 marks) 

2.1 Basic knowledge of International Relations and Diplomacy  

2.1.1 Meaning of International Relations 

2.1.2 Scope of International Relations 

2.1.3 Definition of Diplomacy 

2.1.4 Nature of Diplomacy    

 

2.2 Basic knowledge of International Law and Treaties  

2.2.1 Definition of State, Recognition of State and Government  

2.2.2 Meaning of Sovereignty 

2.2.3 Sources of International Law 

2.2.4 Definition of Treaties 

2.2.5 Forms of Treaties (Conventions, Agreements, Exchange of Notes, 

Declarations, Charter and Memorandum of Understandings (MoUs)) 

   

2.3 Nepal and the United Nations, its Specialized Agencies & International 

Financial Institutions 

2.3.1 Principles and purposes of the United Nations 

2.3.2 Organizational structure of the United Nations  

2.3.3 Nepal’s role in the United Nations 

2.3.4 Nepal and the IMF, World Bank 

2.3.5 Nepal and WTO 

2.3.6 Nepal and ADB 
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2.4 Nepal and Regional Cooperation 

2.4.1 Nepal and SAARC 

2.4.2 Brief information on: 

2.4.2.1 BIMSTEC 

2.4.2.2 Group of 77 

2.4.2.3 Non-Aligned Movement (NAM) 

2.4.2.4 ASEAN 

2.4.2.5 European Union (EU) 

 

2.5 Least Developed and Landlocked Developing Countries 

2.5.1 Problems of the least developed countries (LDCs) 

2.5.2 Definition of the least developed countries (LDCs) 

2.5.3 Challenges of the Landlocked Developing Countries (LLDCs) 

2.5.4 Rights of Landlocked Developing Countries 

2.5.5 Importance of capacity building for development  

 

  2.6 Foreign Policy 

2.6.1 Determinants of Foreign Policy in general and of a small country in 

 particular  

2.6.2  Nepal’s Foreign Policy in the present context 

2.6.3  Nepal’s relations with India & China 

2.6.4  Role of the Foreign Ministry 

2.6.5  Nepal Foreign Service, its role, scope and importance  

 

  2.7 Diplomatic and Consular Functions  

 2.7.1  Functions of diplomatic & consular missions 

 2.7.2  Nature of consular services (passport, visa & attestation of documents)   

      2.7.3  Economic Diplomacy and its components 

 2.7.4  Foreign Employment, its role, scope & attestation, power attorney    

 2.7.5  Diplomatic Privileges and Immunities 

 

 2.8 Diplomatic Terminologies  

 Excellency, Plenipotentiary, Agrément, Attaché, Aide-Memoire, Embassy 

 (Chancery/Residence), Consulate, Diplomatic Bag, Communiqué, Message, 

 Letters of Credence, Letter of Recall, Charge d’ Affaires a.i., Honorary 

 Consul, Diplomatic Corps, Note Verbale, Protocol, Persona non Grata, 

 Status Quo, Asylum, RSVP.  

 

---END--- 

Questions Scheme 

Part I: English Language   II: International Relations and 

Diplomacy   

Marks 40  60 

Unit 1.1 1.2 1.3 1.4 All 

Questions 

x Marks 

1 x 10  

= 10 

5(2x1)

= 10 

5 x 2  

= 10 

1 x 10 

=10 

10 Questions x 5 Marks = 50 Marks 

1 Question x  10 Marks = 10 Marks 
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Sample Questions 

Paper IV: English Language and Diplomacy (100 Marks) 

Part I: English Language (40 Marks) 

1. tn lbOPsf] cg'R5]bnfO{ g]kfnLaf6 c+u|]hLdf cg'jfb ug'{xf]; .  -c+s ef/ !)_ 

lrlgof+ k|wfgdGqL dxfdlxd j]g lhofafcf]n] zlgjf/ sf7df8f}+df latfPsf ;f9] rf/ 306f g]kfn–rLg 

;DaGwdf P]ltxfl;s ;do lyof] . cfsl:ds ¿kdf lgs} ;ts{tfk"j{s cfof]lht ljZjzlQm /fi6«sf 

k|wfgdGqLsf] ;+lIfKt e|d0fn] g]kfnsf] e"–/0fgLlts ;+j]bgzLntf dfq bzf{Pg, ;Gt'lnt e"ldsfsf] 

ck]Iff klg a9fof] . ef/tsf] alnof] k|efj /x]sf] blIf0fsf] l5d]sL /fi6«df rLgn] ;ts{tf;fy k|efj 

lj:tf/ ug{ vf]h]sf] lhofafcf]sf] cf}krfl/s e|d0fn] cYof{pF5 .  bf]xf p8\g'cl3 sf7df8f}+sf] 5f]6f] 

a;fOdf pgn] zflGt / ;+ljwfg k|lt ;dy{g hgfpFb} /fhgLlts l:y/tf / cfly{s ljsf; lglDt g]kfn, 

ef/t / rLgaLr lqb]zLo ;dembf/L x'g'kg]{ ;Gb]z 5f]8] .  

2. Communicative Grammar (10 marks). 

a) Give the meaning of any two words from the following and use them in sentences:     2 

Diplomacy  Agreement 

Negotiation Assignment 

b) Put the verb into the correct form of past continuous or past simple. 

Shanti …..(wait) for me when I …… (arrive).          2 

c) Complete the following sentence with appropriate prepositions.                  2 

I will see you …….... Friday. 

I will meet you for lunch ……. O’clock.  

d) Find the grammatical errors and correct them in the following sentences.                2 

Ram is learning English for five years. He graduates next year.  

e) Complete the following conversation.     2 

John: Hello! I am John from the Embassy of A foreign Country. I am calling to fix an 

appointment for our Ambassador to meet with the Foreign Secretary.   

Subba: ……………….. 

John: What time will it be convenient for the Foreign Secretary?  

Subba: ………………….. 

3. Read the following passage and answer the questions below (10 marks) 

Governments all over the world are critiqued for the way they carry out the task of 

governance. This is natural as the cluster of strategies and policies that account for good 

governance vary from each state, group, and individual. However, such strategies should 

be the outcome of coherent examination of facts. In the US, for example, active 

involvement of government-run, independent think tanks assume the role of the researcher on 

behalf of the government, such that government policy and strategy takes shape in accordance to 
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the ground realities, needs, aspirations, feasibility, which take the form of reports and data. It is 

thus welcome news that PM Baburam Bhattarai’s government is planning to establish two 

“premier” think tanks focused on foreign and strategic issues.  The PM was quoted as saying that 

our foreign policy preferences and strategies are in need of fine-tuning, particularly in our 

approach to China, India, and the US.  

Answer the following: 

1. What could be a suitable title of this passage? 

2. Why are governments criticized everywhere?  

3. How can independent think tanks help the government? 

4. What are the plans of Prime Minister Dr. Bhattarai? 

5. What does the Prime Minister think of our foreign policy preferences and strategies? 

4. Write an essay on one of the following topics in about 200 words (10 marks) 

a. Determinants of Foreign Policy 

b. Diplomacy for Development 

c. Globalization and the poor 

d. UN and International Peace and Security  

e. Tourism as a part of Economic Diplomacy 

Part II: International Relations and Diplomacy (60 Marks) 

Answer all the following questions. 

1. What do you understand by international relations?   (5 marks) 

2. Why is diplomacy important for countries like Nepal?  (5 marks) 

3. What are the Sources of International Law?    (5 marks) 

4. What are the main objectives of the United Nations?  (5 marks) 

5. How do you assess Nepal’s role in the United Nations?  (5 marks) 

6. Give a brief history on the evolution of SAARC.  (5 marks) 

7. What are the problems facing the least developed countries (LDCs)? (5 marks) 

8. Why do we need a separate Foreign Service?   (5 marks) 

9. What are the functions of diplomatic missions abroad?  (5 marks) 

10. Write shorts note on: 

a. Agrément   (2.5 marks) 

b. Aide-Memoire  (2. 5 marks) 

11. 'Foreign Policy is the extension of domestic policy'. Discuss. (10 marks) 

-END-  
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ljifoM– sDKo"6/ ;Lk kl/If0f  (Computer Skill Test) 

 

kf7\oqmdsf] p2]ZoM– 

cfhsf] j}1flgs o'udf b}lgs hLjgdf cfOkg]{ Jofjxfl/s ;d:of ;dfwfgsf nflu ;"rgf / ;+rf/ 

k|ljlw;Fu kl/lrt / Go"gtd 1fg, ;Lk / wf/0ff ePsf] JolQm x'g ckl/xfo{tf /x]sf] 5 . t;y{ b]z 

ljsf;sf] d]?b08sf] ?kdf /x]sf] lghfdtL sd{rf/L 5gf}6 ubf{ cfwf/e"t sDKo"6/ 1fg / ;Lk 

ePsf] JolQm 5gf}6 ug'{ pko'Qm x'G5 . To;df gfoj ;'Aaf kbdf sfo{/t sd{rf/Lx?nfO{ sDKo"6/ 

;DaGwL ug'{kg]{ ;fdfGo ;d:ofx? xn ug]{ Ifdtf x'g clgjfo{ b]lvG5 . To;}n] ck|fljlws tkm{sf 

Gofo, k//fi6«, k|zf;g, n]vfk/LIf0f / ;+;b ;]jf, /fhkq cg+lst k|yd >]0fL, gfoj ;'Aaf jf ;f] 

;/x kbsf] v'nf k|ltof]lutfTds k/LIffsf] låtLo r/0fdf sDKo"6/ ;Lk kl/If0f k|of]ufTds k/LIff 

;dfj]; ul/Psf] xf] . 

k|of]ufTds k/LIff of]hgf (Practical Examination Scheme) 

 

ljifo  k"0ff{Í k/LIff k|0ffnL ljifoj:t' lz{ifs 
cÍ 

;do 

sDKo"6/ ;Lk kl/If0f 

(Computer Skill 

Test) 

!) 
k|of]ufTds 

(Practical) 

Devanagari Typing @=% cÍ 
% ldg]6 

English Typing @=% cÍ 
% ldg]6 

Windows basic and 

Word processing 
% cÍ 

% ldg]6 

 

Contents 

1. Windows basic 

 Introduction to Graphical User Interface 

 Starting and shutting down Windows 

 Basic Windows elements - Desktop, Taskbar, My Computer, Recycle Bin, etc. 

 Concept of files and folders 

 Searching files and folders 

 

2. Word processing 

 Creating, saving and opening documents 

 Typing in Devanagari and English  

 Text formatting (font, size, color, underline, italic, bold, etc) and paragraph 

formatting (alignment, indentation, spacing) 

 Inserting header, footer, page number 

 Page setting (margin, page size, orientation), previewing and printing of 

documents 

 

 

----- 
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c+u|]hL jf b]jgfu/L Typing Skill Test  sf] nflu lgb]{zgM– 

1=  b]jgfu/L Typing Skill Test sf] nflu !%) zAbx?sf] Pp6f Text lbOg]5 / b]xfo cg';f/ c+s 

k|bfg ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 % eGbf sd z'4 zAb k|lt ldg]6 afkt ) c+s 

 % jf ;f] eGbf a9L / &=% eGbf sd z'4 zAb k|lt ldg]6 afkt )=%) c+s 

 &=% jf ;f] eGbf a9L / !) eGbf sd z'4 zAb k|lt ldg]6 afkt )=&% c+s 

 !) jf ;f] eGbf a9L / !@=% eGbf sd z'4 zAb k|lt ldg]6 afkt !=)) c+s 

 !@=% jf ;f] eGbf a9L / !% eGbf sd z'4 zAb k|lt ldg]6 afkt !=@% c+s 

 !% jf ;f] eGbf a9L / !&=% eGbf sd z'4 zAb k|lt ldg]6 afkt !=%) c+s 

 !&=% jf ;f] eGbf a9L / @) eGbf sd z'4 zAb k|lt ldg]6 afkt !=&% c+s 

 @) jf ;f] eGbf a9L / @@=% eGbf sd z'4 zAb k|lt ldg]6 afkt @=)) c+s 

 @@=% jf ;f]eGbf a9L / @% eGbf sd z'4 zAb k|lt ldg]6 afkt @=@% c+s 

 @% jf ;f] eGbf a9L z'4 zAb k|lt ldg]6 afkt @=%) c+s 

 

2. English Typing Skill Test sf] nflu @)) zAbx?sf] Pp6f Text lbOg]5 / b]xfo cg';f/ c+s 

k|bfg ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 ^ eGbf sd z'4 zAb k|lt ldg]6 afkt ) c+s 

 ^ jf ;f] eGbf a9L / ( eGbf sd z'4 zAb k|lt ldg]6 afkt )=%) c+s 

 ( jf ;f] eGbf a9L / !@ eGbf sd z'4 zAb k|lt ldg]6 afkt )=&% c+s 

 !@ jf ;f] eGbf a9L / !% eGbf sd z'4 zAb k|lt ldg]6 afkt !=)) c+s 

 !% jf ;f] eGbf a9L / !* eGbf sd z'4 zAb k|lt ldg]6 afkt !=@% c+s 

 !* jf ;f] eGbf a9L / @! eGbf sd z'4 zAb k|lt ldg]6 afkt !=%) c+s 

 @! jf ;f] eGbf a9L / @$ eGbf sd z'4 zAb k|lt ldg]6 afkt !=&% c+s 

 @$ jf ;f] eGbf a9L / @& eGbf sd z'4 zAb k|lt ldg]6 afkt @=)) c+s 

 @& jf ;f]eGbf a9L / #) eGbf sd z'4 zAb k|lt ldg]6 afkt @=@% c+s 

 #) jf ;f] eGbf a9L z'4 zAb k|lt ldg]6 afkt @=%) c+s 

3. c+u|]hL jf b]jgfu/L Typing df lbOPsf] Text nfO{ cfwf/ dfgL 6fOk u/]sf] Text ;Fu le8fO{ r]s 

ul/g]5 . lbOPsf] c+u|]hL jf b]jgfu/L Text df pNn]lvt :yfg adf]lhd k/LIffyL{x?n] cfkm\gf] 

Text df Punctuation 6fOk gu/]sf] kfOPdf To;sf] zAbdf u0fgf ul/g] 5}g . tTkZrft lgDg 

Formula  k|of]u u/L z'4 zAb k|lt ldg]6(Correct words/minute) lgsflng]5 .  

 Formula: 

 z'4 zAb k|lt ldg]6 (Correct words/minute) =  
(Total words typed − Wrong words)

5
 

 


